L RERREst =

x:L%ﬁﬁ(%i»lk T (4039 ARBE) AHI3EIA ﬁﬁkﬁﬁféi
V—MILbEFALELLS!

7w o % & B =

z: E B | pnssshoRE78055, 0—kR
25, Y—kRJLE
& —
i Yo K 14492 1892 | SRRI$20% (70.1%) EBEIBOTVET
18 35 2 _’141 +10 _’1 58 +16 D55, 174 (85.0%) (d::/_l“’{)bl“é?éﬁﬁb
1 = 11 +14.9 11 119 | TONIFERTICESEM>f=EHBRIENFET,

JE U B W 0 OE R @ GEER siERsEL)

f‘mf‘

65 E 49N (+13) ‘ HAITE 2TA (49)
25~64% 20A (~10) Bl # R 25A (-2) AEEFRED 274 (+7)
l6~242% 6A (+5) WA E IBA (£0) || B#—#h@Ed 134 (+3)
I5EMUT 24 (+2) BEENER  6A (+1) BEE AT 8A (-5)
\_ /\@Jﬁ I A (+|)/ \ R E T 2A (-4)
15 26 o) 20 16(+11) 17(+7)
15 . )
12 s o) ff S0 I o, 3(x0)3(+2) 44 10 7(x0) M2 o) - I 6(-6)
0 0(-5) 5
vﬁ%i/\%/\ﬁz\%g\i/ﬁ ’1«6@ 0%’; q,H N HQ) / KO HIEE RE XIE KE RKE <8E LI /
NI N NN w°

___________________________________________________________________________________________

o 4% BE 35K (s s - T - 11T AEET) 1oL 27 s
(BT BN EREFEH 4921 B~9A308 KL NELE, |

C REWREL-YAS - —BELORBIBIL IS TEATLEEE - BERLTES 5 |
EARNR L THEAYTT, | A

BYESRLEFrR—Y

(&) <318 1B8(5 )~11810B(%RK) =
BUFHTIRAT -BEL BEGEAR LRV, [3ghy ]
REREEE)) -V FrR-Y)
(58] SW3E BB~ 118 1TE(K)
HERELIRLT EROAEATERL TR ARE B2




